3 D BRIR)

B (&

=F
1]

SRR

—
—

KEMLE

W

T

EY

S

f

5R\

E T

A

., - Q . r.ﬁ/v-.l///(rw AW
T .,./,,/ﬂ E

e

Y

7N

XI(S=1:25.000)

-~
-~
/.

E

A1
020A0729

HD

RIER

H1a7(2)

=
S

FHE AT
FiAX+t

¥F

;
il

—FHTA

F &R
He ik B

ﬁ;_

3=

it

=2

BARERDERHE

Fir

e

Hh

e
T # B

FiT

1|
[}]

& RS-

200,000)




=
=

=
A/n

e & b D BRIR X

=
nn

2 THESE

REFE

T T

T

e

fi 1 (2)

\ 020A0729

EmES

BEDEENOHS L. ELVEEDOSThOHILIOS
=]

oI

BHRX3—1

RE) |

£ BHHM100kN/ MEFBZ B & H

C— T REDHESHNIMEFIEBRSEHEH

-~

TEFDREI

BEDEFNDOHS Lo X
C ELLVEEDSFNDHS DX

MR




AR O BRIk X G E

HR3—2 BEYICHERT HLBESNHEEIET HEE(1/3) i i} REFE | vHurk
2arME | BmES | 020A0729 FH T4 Fi i (2) FRTEMD | T A F A
) SERMO T iRICHEET S aEf A
ﬁg TREOBEBOSILHOKRES TEFEDOHBEEILIOKRES TEFEOBBOEILHDOKRES TREOHBSSLIDKRES
&5 X 4 Er%:s 'Fﬁﬁﬁ‘(‘z)@ﬂﬁ%’é 73(&3?)3 X 4 Tﬁﬁuﬁé\;ég;kzF ‘(.%,r'f jj(&)\itﬁé X 4 E.é,r‘n‘c; J:ﬁn“ﬁ;b\(if)tt‘.%‘ jj(&)\itﬁé X 4 J:ﬁﬁ;ﬁ\(‘z)(l)tt?%' _(r%;n_c;( 73(:?3:5)3
7 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 256 33.77 | =nRS | 000 ~ 256 | 2.44 12.31 zh st 1.00 | 5.00 ~ 5.00 33.77 | #nLS | 500 ~ 5.00)| 2.44 12.31
2 100kN/mM%E{BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 291 37.60 | ThLS | 000 ~ 291|235 11.87 zhLst 1.00 | 5.00 ~ 56.00 37.60 | ThLS | 5,00 ~ 56.00)| 2.35 11.87
3 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 374 47.06 | st | 0oo ~ 3574 | 214 10.84 zhLst 1.00 | 5.00 ~ 5.00 47.06 | =hs | 5.00 ~ 500 2.14 10.54
4 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 335 42.56 | =St | 0oo ~ 335|224 11.33 Zh st 1.00 | 5.00 ~ 56.00 42.56 | TnLS | 500 ~ 5.00)| 2.24 11.33
5 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 5.08 63.29 | FnLSY | 000 ~ 0.00| 1.63 822 zhLst 1.00 | 5.00 ~ 5.57 63.29 | ThSt | 6.00 ~ 5567 | 1.63 822
P 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 5.40 67.31 | FnLSY | 000 ~ 0.00| 1.62 817 zhLst 1.00 | .00 ~ 6.10 67.31 | Thst | 6,00 ~ 610 1.62 817
7 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
ThLst 1.00 | 0.00 ~ 5.73 71.68 | ThLS 000 ~ 573] 1.85 937 Fhst 1.00 | 6.00 ~ 6.58 71.68 | NS | 6.00 ~ 658 1.85 9.37
g 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mi%#BZ % — - ~ — — |3m%EHEZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 4.71 5871 | #ns | 0oo ~ 471 1.82 918 FhLst 1.00 | 6.00 ~ 5.00 5871 | #nLS | 65,00 ~ 500 1.82 918
9 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#%EHEZ 5 - ~ — — —
Ths — -~ = — | =hst -~ = — — ZhLst — - ~ — — | #hus — ~ — — —
10 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m%EHEZ 3 - ~ — — —
Ths — -~ = — | =hst -~ = — — st — - ~ — — | #hus — ~ — — —
11 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#%EHEZ 5 - ~ — — —
Ths — -~ = — | =hst -~ = — — st — - ~ — — | #hus — ~ — — —
19 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m%EHEZ 5 - ~ — — —
Ths — -~ = — | =hest -~ = — — st — - ~ — — | #hus — ~ — — —
13 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#%EHEZ 5 - ~ — — —
Ths — -~ = — | =hst -~ = — — st — - ~ — — | #hus — ~ — — —
14 100kN/ Mm% Z 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#%EHEZ 3 - ~ — — —
Ths — -~ = — | =hst -~ = — — ZhLst — - ~ — — | #hus — ~ — — —
15 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mi%#BZ % — - ~ — — |3m#%EEZ 5 - ~ — — —
Thst — -~ = — | =hst -~ = — — ZhnLst — — ~ — — | Zhust — ~ — — |




AR O BRIk X G E

HA3—2 BEYICERT L EESNDHEICET HHIR(2/3) i i} BT
2arME | BmES | 020A0729 [ FH T4 | Fi i (2) | FRTEHR | A N R
) SERMO T iRICHEET S aEf A
ﬁg TREOBEBOSILHOKRES TEFEDOHBEEILIOKRES TEFEOBBOEILHDOKRES TREOHBSSLIDKRES
&5 X 4 Er%:s 'Fﬁﬁiﬁ‘(‘z)@ﬂﬁ%’é 73(;33?3)3 X 4 Tﬁn“ﬁé\;gzg)?kzlz ‘(.%,r']:c; jj(lf’)\litr:é X 4 E'%;C; J:ﬁn“ﬁb\(if)tt‘.%‘ jj(lf’)\litr:é X 4 J:ﬁﬁ;ﬁ\(‘z)(l)tt?% _(r%;n_c;( 73(:;3:33
16 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
zhst — -~ = —| #nLst -~ = — — s — - ~ — —| #nust - ~ — — —
17 100kN/mM%E{BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
zhst — -~ = —| #nLst -~ = — — s — - ~ — —| #nust - ~ — — —
18 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
zhst — -~ = —| #nLst -~ = — — s — - ~ — —| #nust - ~ — — —
19 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
zhst — -~ = —| #nLst -~ = — — s — - ~ — —| #nust - ~ — — —
2 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 622 78.16 | =nst | ooo ~ 622\ 1.91 9.64 Zh st 1.00 | .00 ~ 7.63 7816 | TN | 6.00 ~ 763 | 1.91 9.64
21 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 6.08 76.22 | FnS | 0oo ~ 608\ 1.97 9.95 st 1.00 | .00 ~ 7.72 76.22 | TR | .00 ~ 7.72| 1.97 9.95
29 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
ThLst 1.00 | 0.00 ~ 697 74.72 | TS | 000 ~ 597| 1.96 9.92 Fhst 1.00 | 6.00 ~ 748 74.72 | EnRS | .00 ~ 748 1.96 9.92
23 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mi%#BZ % — - ~ — — |3m%EHEZ 3 - ~ — — —
Ths — -~ = — | =hst -~ = — — st — - ~ — — | #hus — ~ — — —
24 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#%EHEZ 5 - ~ — — —
ThLst 1.00 | 0.00 ~ 5.68 70.97 | TS | 000 ~ 568] 1.95 9.84 Fhst 1.00 | 6.00 ~ 6.89 70.97 | EnLS | 600 ~ 689 | 1.95 9.84
25 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m%EHEZ 3 - ~ — — —
Ths — -~ = — | =hst -~ = — — st — - ~ — — | #hus — ~ — — —
2% 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#%EHEZ 5 - ~ — — —
Ths — -~ = — | =hst -~ = — — st — - ~ — — | #hus — ~ — — —
27 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m%EHEZ 5 - ~ — — —
ThLst 1.00 | 0.00 ~ 5.68 70.97 | TS | 000 ~ 568 1.95 9.84 FhLst 1.00 | 6.00 ~ 6.89 70.97 | EnLSY | 600 ~ 689 1.95 9.84
28 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#%EHEZ 5 - ~ — — —
Ths — -~ = — | =hst -~ = — — st — - ~ — — | #hus — ~ — — —
29 100kN/ Mm% Z 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#%EHEZ 3 - ~ — — —
Ths — -~ = — | =hst -~ = — — ZhLst — - ~ — — | #hus — ~ — — —
20 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mi%#BZ % — - ~ — — |3m#%EEZ 5 - ~ — — —
Thst — -~ = — | =hst -~ = — — ZhnLst — — ~ — — | Zhust — ~ — — |




AR O BRIk X G E

HA3—2 REYIC(ERT L EESNDHEICET HHIAG/3) i i} REEE | PRI
2arME | BmES | 020A0729 [ FH T4 | Fi i (2) | FRTEHR | A N R
) SERMO T iRICHEET S aEf A
ﬁg TREOBEBOSILHOKRES TEFEDOHBEEILIOKRES TEFEOBBOEILHDOKRES TREOHBSSLIDKRES
&5 X 4 Er%:s 'Fﬁﬁiﬁ‘(‘z)@ﬂﬁ%’é 73(;33?3)3 X 4 Tﬁn“ﬁé\;gzg)?kzlz ‘(.%,r']:c; jj(lf’)\litr:é X 4 E'%;C; J:ﬁn“ﬁb\(if)tt‘.%‘ jj(lf’)\litr:é X 4 J:ﬁﬁ;ﬁ\(‘z)(l)tt?% _(r%;n_c;( 73(:;3:33
21 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 5.65 70.57 | S | 0o0 ~ 565 1.94 982 zhLst 1.00 | 5.00 ~ 6.82 70.57 | ThES | 6.00 ~ 682 | 1.94 9.82
39 100kN/mM%E{BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 000 ~ 543 67.71 | FNLSY | 000 ~ 543 | 1.99 10.07 Zh st 1.00 | .00 ~ 6.72 67.71 | ThSt | 600 ~ 6.72| 1.99 10.07
323 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 000 ~ 543 67.71 | FNLSY | 000 ~ 543 | 1.99 10.07 Zh st 1.00 | .00 ~ 6.72 67.71 | Thst | 600 ~ 6.72| 1.99 10.07
24 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 4.59 5725 | EnRSY | 000 ~ 459 | 1.88 9.51 Zh st 1.00 | 5.00 ~ 5.00 57.25 | #hs | 5,00 ~ 6.00| 1.88 951
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
zhst ~ s ~ s ~ FnLst ~
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
zhst ~ s ~ s ~ znLst ~
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ st ~ ZhnLst ~ ZzhLst ~




